

Leonard Carlitz

Remarks on Some Algebraic Identities

Matematický časopis, Vol. 17 (1967), No. 2, 81--84

Persistent URL: <http://dml.cz/dmlcz/126701>

Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 1967

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

REMARKS ON SOME ALGEBRAIC IDENTITIES

LEONARD CARLITZ, Durham, N.C. (U.S.A.)

1. Let

$$a_i \quad (i = 0, 1, \dots, n)$$

and

$$x_j \quad (j = 1, 2, \dots, m)$$

be given complex numbers; the a_i are distinct while the x_j are arbitrary. Put

$$(1) \quad S(m, n) = \sum_{i=0}^n \frac{(a_i - x_1)(a_i - x_2) \dots (a_i - x_m)}{(a_i - a_0) \dots (a_i - a_{i-1})(a_i - a_{i+1}) \dots (a_i - a_n)}.$$

Bartoš and Kaucký [2] have proved that

$$(2) \quad S(n + 1, n) = \sum_{i=0}^n a_i - \sum_{j=1}^{n+1} x_j,$$

$$(3) \quad S(n, n) = 1,$$

$$(4) \quad S(m, n) = 0 \quad (m < n).$$

Two proofs of these formulas are given, one by induction and one using the calculus of residues.

It may be of interest to point out that these results can be obtained very rapidly by means of the Lagrange interpolation formula. We recall that if $p(x)$ denotes an arbitrary polynomial of degree $\leq n$, then

$$p(x) = \sum_{i=0}^n \frac{\Phi(x)}{x - a_i} \frac{p(a_i)}{\Phi'(a_i)},$$

where

$$\Phi(x) = (x - a_0)(x - a_1) \dots (x - a_n),$$

$$\Phi'(a_i) = (a_i - a_0) \dots (a_i - a_{i-1})(a_i - a_{i+1}) \dots (a_i - a_n).$$

Now consider the polynomial

$$(5) \quad F(x) = \sum_{i=0}^n \frac{\Phi(x)}{x - a_i} \frac{f(a_i)}{\Phi'(a_i)},$$

where

$$f(x) = (x - x_1)(x - x_2) \dots (x - x_m).$$

It follows at once from (5) that

$$F(a_i) = f(a_i) \quad (i = 0, 1, \dots, n).$$

Therefore $F(x)$ is the remainder obtained when $f(x)$ is divided by $\Phi(x)$, that is

$$(6) \quad f(x) = Q(x)\Phi(x) + F(x),$$

where

$$\begin{cases} Q(x) = 0 & (m \leq n), \\ \deg Q(x) = m - n - 1 & (m > n). \end{cases}$$

If we put

$$F(x) = c_0x^n + c_1x^{n-1} + \dots + c_n,$$

it is clear from (1) and (5) that

$$c_0 = S(m, n).$$

Hence if $m = n + 1$, $Q(x) = 1$ and we get (2); if $m = n$, $Q(x) = 0$, $c_0 = 1$; if $m < n$, $Q(x) = 0$, $c_0 = 0$.

By means of (6) we may compute c_0 for any $m > n$.

2. Bartoš and Kaucký make several applications of (2), (3) and (4). In particular, by taking

$$a_i = ai + i^2, \quad x_j = -x - j,$$

they obtain

$$(7) \quad \sum_{i=0}^n (-1)^i \frac{\binom{n}{i}^2 \binom{x + n + ai + i^2}{n}}{\binom{a + 2i - 1}{i} \binom{a + n + i}{n - i}} = (-1)^n n!,$$

$$(8) \quad \sum_{i=0}^n (-1)^i \frac{\binom{n}{i}^2 \binom{x + m + ai + i^2}{m}}{\binom{a + 2i - 1}{i} \binom{a + n + i}{n - i}} = 0 \quad (0 \leq m < n).$$

If we put

$$(a)_k = a(a+1) \dots (a+k-1), \quad (a)_0 = 1,$$

(7) and (8) become

$$(9) \quad \sum_{i=0}^n \frac{(a)_i (\frac{1}{2}a+1)_i (-n)_i}{i! (\frac{1}{2}a)_i (a+n+1)_i} \binom{x+n+ai+i^2}{n} = (-1)^n (a+1)_n,$$

$$(10) \quad \sum_{i=0}^n \frac{(a)_i (\frac{1}{2}a+1)_i (-n)_i}{i! (\frac{1}{2}a)_i (a+n+1)_i} \binom{x+m+ai+i^2}{m} = 0 \quad (0 \leq m < n).$$

If we define

$$(11) \quad R(n, m) = \sum_{i=0}^n \frac{(a)_i (\frac{1}{2}a+1)_i (-n)_i}{i! (\frac{1}{2}a)_i (a+n+1)_i} (ai+i^2)^m,$$

it is clear that (9) and (10) are equivalent to

$$(12) \quad R(n, m) = \begin{cases} (-1)^n n! (a+1)_n & (m = n) \\ 0 & (0 \leq m < n). \end{cases}$$

It follows at once from (11) that

$$(13) \quad R_n(z) = \sum_{m=0}^{\infty} (-1)^m R(n, m) z^{-m} = \sum_{i=0}^n \frac{(a)_i (\frac{1}{2}a+1)_i (-n)_i}{i! (\frac{1}{2}a)_i (a+n+1)_i} \frac{z}{z+ai+i^2}.$$

If we put

$$z = \beta\gamma, \quad a = \beta + \gamma, \quad z + ai + i^2 = (\beta + i)(\gamma + i),$$

(13) becomes

$$(14) \quad R_n(z) = {}_5F_4 \left[\begin{matrix} a, \frac{1}{2}a+1, \beta, \gamma, -n \\ \frac{1}{2}a, \gamma+1, \beta+1, a+n+1 \end{matrix} \right]$$

in the usual notation of generalized hypergeometric series. If we recall that [1, p. 25]

$$(15) \quad {}_5F_4 \left[\begin{matrix} a, \frac{1}{2}a+1, c, d, -n \\ \frac{1}{2}a, a-c+1, a-d+1, a+n+1 \end{matrix} \right] = \frac{(a+1)_n (a-c-d+1)_n}{(a-c+1)_n (a-d+1)_n},$$

we find that (14) reduces to

$$(16) \quad R_n(z) = \frac{n!(a+1)_n}{(\gamma+1)_n(\beta+1)_n} = \frac{n!(a+1)_n}{\prod_{i=1}^n (z+ai+i^2)}.$$

We have therefore obtained a generating function for $R(n, m)$. Clearly (16) contains (12).

3. Consider next the sum

$$(17) \quad U(n, m) = \sum_{i=0}^n \frac{(a)_i(\frac{1}{2}a+1)_i(-n)_i}{i!(\frac{1}{2}a)_i(a+n+1)_i} (i+1)_m(a-m+i)_m.$$

It is easily verified that

$$U(n, m) = m!(a-m)_m \cdot {}_5F_4 \left[\begin{matrix} a, \frac{1}{2}a+1, a, m+1, -n \\ \frac{1}{2}a, 1, a-m, a+n+1 \end{matrix} \right].$$

Applying (15), we get

$$(18) \quad U(n, m) = (-1)^n m! \binom{m}{n} \frac{(a-m)_m}{(a-m)_n} (a+1)_n.$$

In particular we have

$$(19) \quad U(n, m) = \begin{cases} (-1)^n n! (a+1)_n & (m=n), \\ 0 & (0 \leq m < n). \end{cases}$$

If we define the coefficients $A(m, k)$ by means of

$$z^m = \sum_{k=0}^m A(m, k) \prod_{i=1}^k (z+ai-i^2),$$

then

$$x^m(a+x)^m = \sum_{k=0}^m A(m, k) \prod_{i=1}^k (x+i)(a+x-i) = \sum_{k=0}^m A(m, k)(x+1)_k(a+x-k)_k.$$

Thus, comparing (17) and (11), we get

$$(20) \quad R(n, m) = \sum_{k=0}^m A(m, k) U(n, k).$$

In particular (20) implies the equivalence of (12) and (19).

REFERENCES

- [1] Bailey W. N., *Generalized hypergeometric series*, Cambridge 1935.
 [2] Bartoš P., Kaucký J., *A genesis for combinatorial identities*, Mat.-fyz. časop. 16 (1966), 31—40.

Received July 18, 1966.

Duke University,
 Durham, North Carolina, U. S. A.